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ngah; / Rl;nlz; .......................................................................

fzpjk;juk; - 6 Neuk;: 2 kzpj;jpahyk;

 vy;yh  tpdhf;fSf;Fk;  ,t;  tpdhj;jhspNyNa  tpil  jUf.

 1)         cUtpy; tl;lj;jpd; kPJ cs;s Mq;fpy vOj;Jf;fs; ahit? 

   ...............................................................................................................................

 2) 4 500 005 vDk; vz;iz nrhw;fspy; vOjpf; fhl;Lf.

  ................................................................................................................................................................................

 3) 62 kzpj;jpahyj;ij ehs;> kzpj;jpahyj;jpy; jUf.

  ................................................................................................................................................................................
 
 4) Xu; vz;iz fpl;ba 10 ,w;F kl;le;jl;ba NghJ 40 ngwg;gl;lJ vdpd;> mt;ntz; Mf 

,Uf;ff;$ba kpfg;ngupa> kpfr;rpwpa vz; ahJ?

  ................................................................................................................................................................................

 5) 5789 vDk; vz;zpy; 7 vDk; ,yf;fk; Fwpf;Fk; ngWkhdk;> ,lg;ngWkhdk; ahJ?

  ................................................................................................................................................................................

 6) 1 kg muprpapd; tpiy &gh. 185 vdpd; 13 kg muprpapd; tpiy ahJ?

  ................................................................................................................................................................................

 7) gp.g 2.30 kzp MFk; NghJ fbfhu Kl;fSf;F ,ilg;gl;l rpwpa Nfhzk; vtt;ifahdJ?

  ................................................................................................................................................................................

 8) -6> 3 vDk; epiw vz;fSf;F ,ilapy; cs;s rfy epiw vz;fisAk; jUf.

  ................................................................................................................................................................................

 9) 'MW kpy;ypad; vOgj;njhd;gJ" vd;gij epak tbtpy; jUf.
 

  ................................................................................................................................................................................
 
 10) $l;Lf.
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 11) 1> -2> 5> -4 
  1) NkNyAs;s vz;izj; jug;gl;l vz;Nfhl;by; Fwpj;Jf; fhl;Lf. 

 2) mt;ntz;fis ,wq;F tupirapy; vOJf.

  ...........................................................................................................................................................................

12) 5> 9> 2> 8 vd;w vz;fis xU jlitkhj;jpuk; gad;gLj;jp vOjf;$ba ehd;fpyf;f kpfg;ngupa 
vz;zpw;Fk;> ehd;fpyf;f kpfr;rpwpa vz;zpw;Fk; ,ilapyhd tpj;jpahrk; ahJ?

 ................................................................................................................................................................................

13) epiyf;Fj;J jsk; xd;iw rupghu;g;gjw;F cgNahfpf;fg;gLk; cgfuzj;jpd; ngau; ahJ?
 
 ................................................................................................................................................................................

14) 4  >  -5 vd;gij nrhw;fspy; vOJf.

 ................................................................................................................................................................................

15) ,ilntsp epug;Gf.

 72000  ̧                 =   72

16) <  my;yJ >  ,y; nghUj;jkhd FwpaPl;ilg; gad;gLj;jp ,ilntsp epug;Gf.

 i) (-5) ..........  0

 ii)  (-10)  ..........  (-3)

17) gp.g 1.30 ,w;F Muk;gpf;fg;gl;l cijg;ge;jhl;l Nghl;bahdJ 14:55 ,w;F Kbtile;jJ 
vdpd;> Nghl;b eilngw;w Neuj;ijf; fzpf;f.

 ................................................................................................................................................................................

18)    mUfpYs;s cUtpd; Nfhztiffis vOJf.

    a) .........................................................................

    b) ..........................................................................

19) RUf;Ff :-  5115  +  748  -  1680

 ................................................................................................................................................................................

20) gpd;tUk; Neuq;fis ru;tNjr epak Kiwapy; vOJf.

 i)  gp.g 4.15  .......................................................................

 ii)  K.g 12.20  ....................................................................... (20x2 = 40 Gs;spfs;)
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 tpUk;gpa  5  tpdhf;fspw;F  tpil  jUf.

01) a)

  
  cUtpid mtjhdpj;J NkNyAs;s ,ilntspfis epug;Gf.

 b)

 

 tPl;by; ,Ue;J ghu;f;Fk;NghJ tq;fp tlf;Fj; jpirapy; fhzg;gLfpd;wJ.

 i) tPl;bw;F re;ij vj;jpirapy; fhzg;gLfpd;wJ?  ..................................................................................

 ii) ghlrhiyf;F fpof;Fj; jpirapy; fhzg;gLgit vit? ...................................................................

 iii) cgjpirfspy; fhzg;gLk; ,lq;fis vOJf. ...............................................................................

 iv) tPl;bw;F njd;Nkw;Fj; jpirapy; fhzg;gLk; ,lk; ahJ? ..................................................................

 v) jpirfis mwptjw;F gad;gLj;jg;gLk; fUtp ahJ? .........................................................................

(5+1+2+2+1+1= 12 Gs;spfs;)
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02) $l;Lf.

 a) i)   ii)

 fopf;f.

 b) i)   ii)

 c) gp.g 4.30 vd;gij ru;tNjr epak Kiwapy; vOjpf; fhl;Lf.

  ...............................................................................................................................................................................

 d) 1 kzpj;jpahyk; 45 epkplk; nfhz;l jpiuglkhdJ K.g 11.00 ,w;F wpiwtile;jhy; 
vj;jid kzpf;F Muk;gpf;fg;gl;bUf;Fk;?

  ...............................................................................................................................................................................

 e) RNu]; 2012 rpj;jpiu 15 Mk; jpfjp gpwe;jhu;. ,jid ru;tNjr epak Kiwapy; vOJf.

  ...............................................................................................................................................................................

 (2+2+2+2+1+2+1 = 12 Gs;spfs;)

03) a)

  

  i)  NkNy vz;Nfhl;by; Fwpf;fg;gl;l Mq;fpy vOj;J Fwpf;Fk; ,yf;fq;fis vOJf.

    ...................................................................................................................................................................

  ii)  S I tpl ngupaJk ; T I tpl rpwpaJkhd vzi; z FwpjJ;  epwF; k ; Mqf; py vOjJ;  ahJ? 

     .....................................................................................................................................................

  iii)  R ,w;Fk; Q ,w;Fk; ,ilapYs;s tpj;jpahrk; vt;tsT?

    ..................................................................................................................................................................

 b) ( > , < , = ) FwpaPl;ilg; gad;gLj;jp ,ilntsp epug;Gf.

  i) (-6) .......... 3  ii) 0 ........ 5

 c) -3  >  -6  vd;gij nrhw;fspy; vOjpf; fhl;Lf.

  .........................................................................................................................................................................

(5+1+2+1+1+2 = 12 Gs;spfs;)
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04) a) gpd;tUk; vz;fis epak tbtpy; vOjp nrhw;fspy; vOjpf; fhl;Lf.

  i) 70400320       .....................................................................................................................................

  ii)  174090095  ....................................................................................................................................

 b) gpd;tUk; nrhw;fspy; jug;gl;Ls;stw;iw epak Kiwapy; vOjpf; fhl;Lf.

  i) ehd;F kpy;ypad; vl;lhapuj;J Ie;J ................................................................................................

  ii) xU gpy;ypad; Ie;J kpy;ypad; xd;gJ .......................................................................................

 c) 56709 vd;w vz;zpy;

  i) 7 Fwpf;Fk; ,lg;ngWkhdk; ahJ? ...................................................................................................

  ii) 6 Fwpf;Fk; ngWkhdk; ahJ? ........................................................................................................

                                             (5+1+2+1+1+2= 12 Gs;spfs;)

 d)    mUfpy; vz;rl;lj;jpdhy; fhl;lg;gLk; vz;iz vOJf. 

     .....................................................................................................

 (2+2+2+2+1+1+2= 12 Gs;spfs;)

05) $l;Lf.

 a) i)   ii)  450  +  9402  = ................................

 

 b)  fopf;f.

  i)   ii)  75400 - 1947  =  ...........................

 

 c)  ngUf;Ff.

  i)  725  ́    8 = ........................ ii) 384  ́  14 = .................................

 d)  gpd;tUk; tFj;jiy RUf;Ff.

  i)  738  ̧   6 = ................................ ii) 1545  ̧  15 = ...................... 

(1+1+1+1+2+2+2+2 = 12 Gs;spfs;)
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06) a) gpd;tUk; vz;fis fpl;ba 10 ,w;F kl;le;jl;Lf.

  i)  196 - .......................         ii)  73 - ....................         

   iii)  1008 -  .................              iv)  1999 - ...............

 b) gpd;tUtdtw;wpy; xt;nthU vz;izAk; fpl;ba 10 ,w;F kl;le;jl;bg; ngWkhdk; fhz;f.

  i)   64 + 73 + 15 .......................................................       ii)   141 - 66 + 73 - ..................................................

 c)    mk;G va;jy; Nghl;bapy; gq;Fgw;Wk; Fkhu;> mk;G ikaj;jpy; (O) ,y; 
gLkhapd; 20 Gs;spfSk; tl;lj;jpDs; gLkhapd; 10 Gs;spfSk; 
tl;lj;jpd; kPJ gLkhapd; 15 Gs;spfSk; tl;lj;jpw;F ntspNa mk;G 
gLkhapd; Gs;sp toq;fg;glkhl;lhJ. 

 i) Fkhu; %d;W jlitfs; mk;G va;Jthd; vdpd; mtd; ngw;Wf;nfhs;Sk; mjp$ba Gs;sp 
ahJ?

  ........................................................................................................................................................................

 ii)  Fkhu; ,Ujlitfs; mk;G va;jy; Nghl;bapy; gq;F gw;wp 35 Gs;spfis ngw;whu; vdpd;> 
vj;jid jlitfs; mk;ghdhJ ikaj;jpy; gl;bUf;Fk; vdf; $Wf.

  ........................................................................................................................................................................

(4+4+4  = 12 Gs;spfs;)
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